Task:

A train at rest starts moving with uniform acceleration, keeps moving for 2 min. It reaches 48
km/h after 5 min of its uniform retardation and stops after 3 min. How much distance it

covered?
Solution:
Given:
t 2min = !
acc min = 30
tror =5min=—nh
ret min 12

. 1
totop = 3 min = %h

‘§2 (tret) =48 km/h
82 (tret + tstop) =0km/h

a,-t?
2

51(t) =

a, - t,?
2 1 .
s (ty) = Y + 81 (taee) * ta

Stotal = S1 (tacc) + Sz(tret + tstap)

2
ai-tacc
2

51(tace) =
$;()=a; -t

$1(tace) = a1 * tace

$2(t1) = @y -ty + $1(baee) = Az -ty + @y~ Laee

$2(tret) = Az trer + A1 Laee = 48 km/h

$2(tree + totop) = @z (tree + tseop) + A1  tace = 0 km/h

a, = 3840 km/h?, a, = —960 km/h?;

a; - taccz a: (tret + tstop)z
Stotal = 2 + 2 +a; - taee * (Erer + tstop) = ? km

Answer:

The train covered 33—2 km
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